1.

ohe 2130 ¥l O oA LBAC = 15° ©] 1 5.0ptAC = 10cm 2 T,
5.0ptBC 2] Zo]=?

@D 2cm @ 3cm ® 4cm @ 5cm B 6cm



2. & 2" AER} R =] dol=?

_---10cm-~ . _

- ~

e
~6cm-

@® 8rcm @ (6m+ 10)cm ® (6m+ 16)cm

@ (47 + 10)cm ® (87 + 16)cm



o2 182 ¥ 0 9 A& 9ol 2cm, 4em & A 5O 2 sh=Htge=z
9 Aolt}, o &2 FE2o] E¢9] Zo] xrem , W O|E yrem? o]l

oo, xy o S Tttt



9 0 oflM FHZe] 27171 40° o FAlEQ] 20] Zol7t 2r A o, ¢

0 o] =d|9] ZolE oot

Qe ,



B2 ] W5 0] 71017} Gem 0] £] Fol7} brem U W, F4]
7he] 277

@D 120° @ 150° 3) 180° @ 240° 3 360°



2 152 ¥ 0 9 A& AB Y9l 4cm, 8cm & A 5L 5=
oz Id Aot o]F2 BEO 9] Zo] xrem , B O|E yrem?

2tal g, x4y o] gt& Fokeiet




7. the 37 22 9 094 AB//CO. LAOC = 45°, 5.0ptAC = 6

N

o i, 5.0ptAB ] Zo]=?

L

@D 10 ® 11 3 12 @ 13 B 14



o2 21804 & 9 A, B = gsoltt. ¢
A 9] 9] 207} 107 cm € W], ¥ B 9]
Yol & Fatot

CF-
= cm?



@ 7749 RE A 9] A4 27 Aol



